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Questions

In the world, in cotton production, U.S.A stands at:

In cotton production,among the continents:

In the world, most superior cotton is produced by:

In the world, total production of cotton is:

In the world, area under cotton cultivation is:

In the world, China is:

For cotton cultivation, temperature requirement is:

In those regions, where annual rainfall is less than 20 inches:

For cotton crop cultivation, regions with 30-40 inches rainfall:

During the cultivation of cotton crop:
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Answers Choice

A. first position
B. second position
C. fifth position

. tenth position

. Asia ranks first

. Australia ranks first

. Europe ranks first

. South America ranks first

. China
. India

. Egypt
. Sudan

. 10 million metric tons
. more than 51 million metric tons
. 100 million metric tons

. more than 33 million hectare
. about 10 million hectare

. only 5 million hectare

. 50 million hectare

. largest producer of cotton

. second largest producer of cotton
C. not important producer of cotton
D. an unimportant country for cotton
sowing

D
A
B
C
D
A
B
C
D
A. 20 million metric tons
B
C
D
A
B
C
D
A
B

A. 25<span style="color: rgb(34, 34,
34); font-family: sans-serif; font-size:
17.5px;">°</span><span style="color:
rgb(34, 34, 34); font-family: sans-
serif;"></span>C

B. below 15<span style="color:
rgb(34, 34, 34); font-family: sans-
serif; font-size: 17.5px;">°</span>
<span style="color: rgb(34, 34, 34);
font-family: sans-serif;"></span>C
C. up to 50<span style="color:
rgb(34, 34, 34); font-family: sans-
serif; font-size: 17.5px;">°</span>
<span style="color: rgb(34, 34, 34);
font-family: sans-serif;"></span>C
D. temperature does not affect

A. cotton cultivation is done by
irrigation

B. cotton sowing does not need
irrigation

C. rain-fed cotton cultivation is being
done

D. cotton sowing is not possible

A. are not suitable

B. are most suitable

C. are not favourable

D. are favourable to some extent

A. 200 sunny days are required
B. 100 sunny days are required
C. weather does not count
D. no need of sunny days

A. between 10<span style="color:
rgb(34, 34, 34); font-family: sans-
serif; font-size: 17.5px;">°</span>
<span style="color: rgb(34, 34, 34);
font-family: sans-serif;">
</span>latitude north &amp; south
B. between 35<span style="color:
rgb(34, 34, 34); font-family: sans-
serif; font-size: 17.5px;">°</span>
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. in all regions of the world
. in cold regions of the world

Cc
D
A. is being done, for thousand years
C
D

12 In the Indo-Pak Sub-continent, cotton cultivation: _began in third century A.D
. began before a few centuries
13 In the world, cotton cultivation is being done: - in cool temperate regions

. in equatorial humid regions
. in desert regions
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